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CBSE-X-MATHS
Max Marks 100                                                                                          Time 3hours
                                                            SECTION  A
1.   Solve    3(bx+ay) = a—6b   ,     3(ax—by) = --( 6a+b)                                           
2.  Simplify    :  x                      x          x4 – y4              ÷     (x + y)2 –4xy                 
                        (x+y)2—2xy               (x+y)3—3xy(x+y)      (x+y)2—3xy
3.   In figure , PT is a tangent aqnd PAB is a secant  of the circle  .If the bisector of <ATB  intersects AB at M 

      prove that  PT = PM        [image: image1.png]


        
4.   An article is available for Rs 9000 cash or for Rs 2200 cash down payment followed

      by five monthly instalments of Rs 1400 each. Calculate the rate of interest  charged.                                                    

5.   A   loan of Rs 66200 is to be  returned in three equal annual instalments .If the rate of  interest is 
      10 % per annum , compounded annually , find each instalment                                                                                   
6.   If (x+1) (x – 4) is the HCF of the polynomials (x – 4) (2x2 + x – a) and 

      (x+1) (2x2 + bx – 12), find a and b.                                                   
7.   Find the value of p for 3x2 + px – 2 = 0  has real roots
      OR 

      Solve for x  :         1          =  1   +   1   +    1
                            a +  b + x        a        b          x 
8.   Find the three terms in A.P. such that their sum is 3 and product is – 8 
9.   Find the common difference of an A.P. whose first term is 100 and sum of 

     whose first 6 terms is five times the sum of next 6 terms 
      OR

      If  the sum of first n terms of an AP is given by  Sn = 5n2 + 3n , find the nth term of an AP
10. Prove that the area of an equilateral triangle described on the side of a square is half the area of an 

      equilatreal triangle descibed on its diagonal                  
SECTION B
11. An aeroplane left 30 minutes later than the scheduled time ; and  in order to reach its destination 

      1500km away in time , it has to increase its speed by 250km/hr from its usual speed .Determine its usual 

      speed 
      OR 

      Solve for x  :  x—1    +    x—3     = 10  
                            x –2           x –4          3                                                          
12. Solve graphically : x + 2y = 5  , 2x –3y = --4 , Also find the point where the lines meet X axis                              
13. Construct a 
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ABC in which BC = 5cm, 
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A = 60°, and median AD through A is

      4cm. Construct a  ∆A’BC’ similar to ∆ABC with BC’ = 7cm.
14. A hemispherical bowl of internal radius 9 cm is full of liquid .this liquid is to be filled into cylinderical 

     shaped  small bottles each of diameter 3 cm and height 4 cm .howmany bottles are necessary to empty  

      the bowl 

15. Prove    
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      OR 
      --tanθ Cot (90-θ) + Secθ .Cosec(90-θ) + Sin235 +Sin255
                        tan10 tan20 tan70 tan30 tan80
16. Show that the points (2, -2), (8,4), (5,7) and (-1,1) are vertices of a rectangle.       
17. Find the ratio in which line segment joining (-2,-3) and (1,6) is divided by x axis.
18. Pie chart in the figure represents  the number of votes polled by four candidates in an election .the votes  

      polled by Paramjith Kaur  were 160 . Read the pie chart  and answer the following questions 
      (1) What is the total number of votes polled   (2) What is the minimum number of votes polled by a 

           candidate  (3) By howmany votes did the winner defeat the nearest contestant    
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19. A card is drawn at random from a well shuffled deck of 52 playing cards  .Find the probability that the card drawn is neither a red nor a queen                                                                                    
20. Find mean
	Class Interval
	4-8
	8--12
	12--16
	16--20
	20---24
	24--28

	Frequency
	23
	27
	45
	56
	34
	29


SECTION C
21. Prove opposite angles of a cyclic quadrilateral are supplementary.  
      Using the above result , determine as under: ABCD is a cyclic trapezium with AD II BC  . If <B = 70  , 

       Determine the other angles of the trapezium
22. Prove that the angle subtended by an arc of a circle at its centre is double the angle subtended by it at 
      any point on the  remaining part of the circle.     Using the result prove that the angle in a major segment 

       is acute   

23. The angle of elevation of a cliff from a fixed point is 
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.After going up a 

      distance of k metres towards the top of the cliff at an angle of 
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, it is found 

      that angle of elevation is 
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.Show that the height of the cliff is    
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 metres.
       OR 

      The angle of elevation of a jet plane from a point A on the ground is 60 . After a flight of 

      15 seconds , the angle of elevation changes to 30 , If the jet plane is flying at a constant height 

       height of 1500√3 m , find the speed of the jet plane
24. Water in a canal, 30 dm wide and 12 dm deep is flowing with a velocity of 10 

      km/h. How much area will it irrigate in 30 minutes, if 4 cm of standing water is

      required for irrigation?
      OR   

      The radii of circular ends of  solid frustum of a cone are 33 cm  and 27 cm  and its slant height 

       Is 10 cm .Find its total surface area 
25. Ramlal earns Rs 25000 per month .He donates Rs 10000 to PM’s Relief fund (100 %) and Rs 5000
      to an educational institution (50%).He contributes Rs 65000 towrads PPF  , Rs2500 per month 

      towards his LIC policy and purchases NSC’s worth Rs 20000 .He pays income tax of Rs 350 per month 

      for the first 11 months of the year .Find the income tax to be paid by him in the last month of the year
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